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Indefinite integrals

We will use the following notation

/f(x) dx = F(x) means F'(x) = f(x)
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Example

Verify that
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Table of indefinite integrals

/eXdX:eX-l—C

/cf(x)dx:c/f(x)dx _
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Example A cosx = (cos x\g (
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Verify that
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Example

Find the indefinite integral [(x® + 12x2) dx
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Example

Find the indefinite integral [(x® + 12x2) dx
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Example
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Example

Ao 7>0° = 5\\,\'SD° -~ \r_t_iL_E
-2 30" 1/7_ -
1/V3 t 71 tanltld = swee®  Wa )
Evaluatef dt/r_ e e G
’L ‘ 1
-\ L
/e =y /’: vt = S K4l ‘e
g i‘_,_——— it = (4_&4\)({ ‘l)
2= °
0
0
ey T
-\ *{‘_6\4\/\: — kv c= 3 - 3
= X:La.w E - 6
o

Skoldberg (National University of Ireland, Galndefinite integrals and the net change theore

MA100 9/1



The net change theorem

Theorem
The integral of a rate of change is the net change.

b
/a F'(x) dx = F(b) — F(a)
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Example —=  Pes. \)a_\ar.."-i-\
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A particle moves along a line so that its velocity at time t is
v(t) = t?> — t — 6 measured in metres per second.

@ Find the displacement of the particle during the time period
1<t<4.

@ Find the distance travelled during this time period.
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Example (cont.) u y .
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Example (cont.) !
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